
9r.t)
cyto>,

ntr'e BGAafi9

Geso*l::
B.ea r{as rfynilS-: t9:net 14 CiEF$r€

o

N* rlEfiMeagaaHHe
5nroAa

For

10pqr,!h
I

"{exa
['lug{csute.B-B€t, f euepr.

Ll€fr HocT b,
Nl(StJ"{"

BuraprHxur, mr u"64, h4r

sefiHU KHpr YrneBsAb g'1 BT d t f
r**ri 9a Me Fc

sr
F,

*$.i
]anEr ms
\.loPXoBl,i c
rl+Oa,lOV M 66

100,00 1{.$e 1-22 0.08 32.0rt 98.87 sut r0t 8.76 1.6( t.$? 0.S0 58.S4 33.72 8€ *a ta. J. J O $ts

*fi
3yn
{aFro+enbH
I 6o6onutt"rr
1ul 102

t50.0 0 {n n, 9.09 u.o, 19.65 177.S7 02 0;0? 1.1 1.2{ e.41 0.00 $s.0! 6I.S? :04;86 227.1 A 1, 208 ,,fi0

i'$E

{ai c
q9tMo$oM

n 377
?00.0 0 2,;,47 0.16 0.03 15.20 59.1 6 CI.0c 0.0€ t.8n il.0r t0t 0:OCI 8"80 1.54 0.84 t.,ftr 11 .4r 0l'01 0,;0$ :i}A

S]1f.I

6ltrq+xH
'Cot{hilrtgn'g
TOMATHbIM
rovcorur 50/50

100"00 8$;*0 12.39 6,96 9;0f ?lt0;9$ !;fiil 001 t ,S'.[ *, rx3 O;tl{ ss$ 12.62 3.43 31,08

Kaura
rpeqHeBa*
FeccbrnraTc.R
sa2

18S.00
, Fit:n 10.50 TrBS l'al 

"a,t 1a( 1A );?f 0,'l{ S;00 l0i 0r?{ $isre f$.0t ,!&.4 t.5t )aa.4. !i v& 489

eA.,l
(neO

lapnrqur ir
40;00 ?,44 2,72 063 0.00 98.CI0 0.0( 0-00 l.s( 00r 0;S0 000 0.oo 0,00 0i0t 0.00 0,,SS 0CIo 0$


